ERIBSHRER (—_(A—4—) HRIERLHK

AEER CRr Ay NN
. AE AIE ZC R T B dm 2 2 (U Sv/hr)
3H 5
B 15 o
_ H25.4.2 11:50 = 0.05 0.05 0.04 0.04 0.05 0.05
AOPME (RIS ER)
B 15 o
H25.4.2 11:40 = 0.05 0.04 0.05 0.05 0.05 0.05
FR3E (LRI SthiE R
B4 15 o
H25.4.2 11:32 = 0.06 0.06 0.06 0.06 0.06 0.06
AT X (FEIShIER)
B4 15 o
_ H25.4.2 12:00 = 0.06 0.06 0.06 0.06 0.06 0.06
JKALER RS (RAISUHhIE R
B4 15 o
H25.4.2 11:25 = 0.05 0.05 0.05 0.05 0.05 0.05
ATIREEYZRAO
= A
LEET H25.4.2 13:30 = 0.06 0.06 0.06 0.06 0.05 0.06




